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1. EXFEHRNEOHR 1. EXFEREOHR
i. BEFTEIRA i. BEFRBHRA
1. EARBEERN 5, 000 1. EXGREERLE 15, 000
2. BEEEERIRA 10, 000 2. BEEEERIA 15, 000
3. WM 11, 700, 000 3. ZMRE 11, 400, 000
(1) FTREZHREBIA 10, 000, 000 (1) FREZHREBIA 10, 700, 000
(2) BALEZWEBEIA 800, 000 (2) HASEZTEBIA 300, 000
(3)EFE - KUSBIA 900, 000 (EE - KHELBIRA 400, 000
4. BEINE 200, 000 . BRI 760, 000
(1) FHERBEWA 100, 000 (1) FHERBEWRA 100, 000
(2) EERFTEERA 0 (2) B - KEBSFEIA 500, 000
(3) REEHFIRA 100, 000 (3) ILEEZFIRA 150, 000
(4) ZEEEFIRA 10, 000
5. ZWMEHE 1, 645, 800 . ZmiEEE 8, 468, 800
(1) &R BHPEIMA 7,645, 800 (1) #&FRERBEIA 4,202, 800
(2) &R EHHEEIRA 4,266, 000
6. TEREHES 1,210, 000 _ZhaES 1, 300, 000
(1) B=BESWA 0 (1) B=BESIRA
(2) B2%28HEHFIRA 1,210, 000 (2) Bo%28H8IEFINA 1, 300, 000| Z D 4thUR A
1. IR 300, 221 <3 E 300, 407
(1) ZWHR 221 (1) ZWAR 2,000
(2) 3Uvss 300, 000 (2) v 298, 407
EEFBIRAG 21,071,021] A EXEFYIRAG 22, 259, 207
i. BEFHIH i BEFHIH
1. ATERNEE 13, 763, 580 1. B8 15, 690, 000
HEHMF ST H 3,501, 151 HESE 800, 000
HHFSIXH 2,109, 549 HEBREEE 600, 000
BB KT XH LRE 100, 000
EERMEXZH SWETE 1,000, 000
BAEEEXH 842 516 SEEHEE 100, 000
EBE X H 290, 000 X EREENE 3,500, 000
REXBEXWH 621, 049 BEHLFHE 1, 000, 000
BEEMREXSH 697, 823 KM EEE 1,000, 000
HEGEXH 1,082, 807 EEL 210, 000
HEdSREXWH k=K 110, 000
& # & X W BNE 300, 000
FREAREH 552, 986 BERE 150, 000
SEKHE X W BHELGIEHEE 100, 000
E R XS 1,638, 300 HREE 1, 400, 000
J— XA #H X 280, 000 % E RN 2, 500, 000
REH XS HWE5EFH 1, 450, 000
e 600, 000 2E - £EXRLURE 750, 000
R NE S o 49, 000 AERERE 100, 000
XEHRHE X H 280, 000 TOMEEE 520, 000
FEHREEXH
LEEREXH 2. B8 400, 000
XILEEEZE 1,155,210 b= 50, 000
MR A M X H ‘HER 250, 000
SEEHEEXEH FERE 50, 000
SEHNEXE ZDh=E 50, 000
BEZREXH
EENEREERS 3. EEE 9,113, 040
HWEREXE % B 3REN 2, 500, 000
b3 b:3 H 63,189 HWE5FY 1,450, 000
GBHELEE 1,200, 000
REXEE 500, 000
2. REEEF 4,201,170 BIEERE 450, 000
HEmMF L 382, 624 HIEME 300, 000
HHFSXH 383, 920 HRERE 50, 000
BB BT ZE 0 N S AR 2 250, 000
EERBAMEXEH 0 Y—R$ 400, 000
BAEEEZE 130, 849 Eﬁé*ﬂr 1,253, 040
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I. BEFENZOR

I. BEFEHNZOH

A BEH=A+B+C
X AF=D+E+F

i. BEFHIRA 6, 600, 000 i. BEFEHIRA 2, 100, 000

1. EXRBAERAIRA 5, 000, 000 1. EXRMEREIA 0

2 EERIEEERAIRA 2 EER{LEEIREIRA 1,000, 000

3. XEBREIHEERAIRA 1,000, 000 3. XEE5I HEEIAIA 500, 000

4. EF - TSRS EERBEIRA 600, 000 600, 000
i. BEFHTH i BEFEHH

1. BESERSIH 6, 000, 000 1. BEEERBXIEN 1, 100, 000

(1) SEASBMERTXH 3,000, 000 (1) ZME3IEHTEEMGHH 500, 000

(2) AETE5I4ES 2,000, 000 (2) #4 - KHES3ITCRERSEHS 600, 000

(3) EEEILSIMLXZH 1,000, 000 Y EENGIHET 1,100, 000

BEEEMEXHET 0
BEFEINTESE 600, 000 BETHIINZES
. BBEESHIREZDOER . HMEBEERSHINEOE

i. MBEFSHIRA i. BABEEIRA
i . MEESTH i ABESZH
BEFEIRZELRE BEITHIRTELE

V. PEEXZH 132, 889 V. PHEEXH 156, 960

LG % 1 ] A 2,112,994 L L% A 1,855,793

BIHAAREIR T =28 2,112,994 AREIR X = 4E 1,855, 793

REPEBINTEE 0 RPEBNTEE 0




